
 

 Copyright itute.com 2008     Free download & print from www.itute.com      Do not reproduce by other means without permission 

 

 

= Year 12                     = Calculus                    = Worksheet 10 
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2. Show that ( )( ) ( ) ( )xxx
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6. Find ( )xf ′ , given ( ) xxxf sin= . Hence find dxxx∫ cos . 

 

 

7. Show that ( ) x
enx

dx

d
+ ( ) xenx 1++= , where n is an integer. 

Hence find ( ) dxenx
x

∫ + . 

 

 

 

 

 

 

8. Find the area of the region bounded by the x-axis and the 

curve ( )( )12 −+= xxy . 

9. Find the area of the region bounded by the x-axis and the 

curve ( )( )( )2
123 −−−= xxxy . 

 

 

 

 

 

 

 

10. Find the area of the region bounded by ( ) ( )22
21 −+= xxy  

and 16=y . 

11. Find the area of the region bounded by ( )( )2
11 −+= xxy  

and 15 += xy . 

 

 

 

 

 

 

 

Numerical, algebraic and worded answers. 
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